This report contains the transfers results.

Contest Name

Ward 7 - East Berwickshire

4,232

Positions to be Filled
Quota

Quota

Ward 7 - East Berwickshire

4,232

1,059

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Michael CLIFT	Independent	178
Eddy COULSON	Scottish Labour Party	301
Kate DUNCAN	Scottish Green Party	162
Jim FULLARTON	Scottish Conservative and Unionist	1,505
Carol HAMILTON	Scottish Conservative and Unionist	979
Helen LAING	Scottish National Party (SNP)	831
Danny ROBERTSON	Scottish Liberal Democrats	276
	Total	4,232

Candidate Jim FULLARTON Elected with 1,505 votes, being in excess of the quota of 1,059

## Scottish Borders Council

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Jim FULLARTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael CLIFT	23	0.29634	6.81582
Transfer to Eddy COULSON	26	0.29634	7.70484
Transfer to Kate DUNCAN	13	0.29634	3.85242
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	1,276	0.29634	378.12984
Transfer to Helen LAING	12	0.29634	3.55608
Transfer to Danny ROBERTSON	67	0.29634	19.85478
Value of non-transferable ballot papers			26.08622
	Total		446.00000

This report contains the transfers results.

Stage 3 - Surplus of Carol HAMILTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael CLIFT	203	0.06509	13.21327
Transfer to Michael CLIFT	158	0.21967	34.70786
Transfer to Eddy COULSON	71	0.21967	15.59657
Transfer to Eddy COULSON	63	0.06509	4.10067
Transfer to Kate DUNCAN	55	0.06509	3.57995
Transfer to Kate DUNCAN	38	0.21967	8.34746
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	0	0.00000	0.00000
Transfer to Helen LAING	25	0.21967	5.49175
Transfer to Helen LAING	19	0.06509	1.23671
Transfer to Danny ROBERTSON	236	0.06509	15.36124
Transfer to Danny ROBERTSON	185	0.21967	40.63895
Value of non-transferable ballot papers			155.85541
	Total		298.12984

This report contains the transfers results.

Stage 4 - Exclusion of Kate DUNCAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael CLIFT	4	0.21967	0.87868
Transfer to Michael CLIFT	1	0.29634	0.29634
Transfer to Michael CLIFT	25	1.00000	25.00000
Transfer to Michael CLIFT	7	0.06509	0.45563
Transfer to Eddy COULSON	4	0.06509	0.26036
Transfer to Eddy COULSON	29	1.00000	29.00000
Transfer to Eddy COULSON	2	0.29634	0.59268
Transfer to Eddy COULSON	4	0.21967	0.87868
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	0	0.00000	0.00000
Transfer to Helen LAING	51	1.00000	51.00000
Transfer to Helen LAING	1	0.21967	0.21967
Transfer to Helen LAING	2	0.29634	0.59268
Transfer to Danny ROBERTSON	4	0.29634	1.18536
Transfer to Danny ROBERTSON	8	0.21967	1.75736
Transfer to Danny ROBERTSON	42	1.00000	42.00000
Transfer to Danny ROBERTSON	11	0.06509	0.71599
Value of non-transferable ballot papers			22.94640
	Total		177.77983

Total 177.77983

This report contains the transfers results.

Stage 5 - Exclusion of Michael CLIFT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddy COULSON	22	0.06509	1.43198
Transfer to Eddy COULSON	15	0.21967	3.29505
Transfer to Eddy COULSON	4	0.29634	1.18536
Transfer to Eddy COULSON	43	1.00000	43.00000
Transfer to Kate DUNCAN	0	0.00000	0.00000
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	0	0.00000	0.00000
Transfer to Helen LAING	38	1.00000	38.00000
Transfer to Helen LAING	1	0.29634	0.29634
Transfer to Helen LAING	2	0.21967	0.43934
Transfer to Helen LAING	3	0.06509	0.19527
Transfer to Danny ROBERTSON	41	0.06509	2.66869
Transfer to Danny ROBERTSON	30	0.21967	6.59010
Transfer to Danny ROBERTSON	5	0.29634	1.48170
Transfer to Danny ROBERTSON	67	1.00000	67.00000
Value of non-transferable ballot papers			93.78377
	Total		259.36760

This report contains the transfers results.

Stage 6 - Exclusion of Eddy COULSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael CLIFT	0	0.00000	0.00000
Transfer to Kate DUNCAN	0	0.00000	0.00000
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	0	0.00000	0.00000
Transfer to Helen LAING	6	0.06509	0.39054
Transfer to Helen LAING	1	0.21967	0.21967
Transfer to Helen LAING	3	0.29634	0.88902
Transfer to Helen LAING	67	1.00000	67.00000
Transfer to Danny ROBERTSON	134	1.00000	134.00000
Transfer to Danny ROBERTSON	13	0.29634	3.85242
Transfer to Danny ROBERTSON	52	0.21967	11.42284
Transfer to Danny ROBERTSON	31	0.06509	2.01779
Value of non-transferable ballot papers			188.25391
	Total		408.04619

This report contains the transfers results.

Stage 7 - Exclusion of Danny ROBERTSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael CLIFT	0	0.00000	0.00000
Transfer to Eddy COULSON	0	0.00000	0.00000
Transfer to Kate DUNCAN	0	0.00000	0.00000
Transfer to Jim FULLARTON	0	0.00000	0.00000
Transfer to Carol HAMILTON	0	0.00000	0.00000
Transfer to Helen LAING	96	0.06509	6.24864
Transfer to Helen LAING	87	0.21967	19.11129
Transfer to Helen LAING	18	0.29634	5.33412
Transfer to Helen LAING	172	1.00000	172.00000
Value of non-transferable ballot papers			423.85317
	Total		626.54722